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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Option 11D : 69135211604
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Question ID :
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Chosen Option :
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Question ID : 6913522973
Option 11D : 69135211892
Option 2 ID : 69135211891
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Option 4 ID : 69135211889
Status : Answered
Chosen Option : 4
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Option 11D : 69135211765
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Chosen Option : 1
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Question ID : 6913522923
Option 11D : 69135211690
Option 2 ID : 69135211689
Option 31D : 69135211691
Option 4 ID : 69135211692
Status : Not Answered
Chosen Option : --
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Question ID : 6913522976
Option 11D : 69135211903
Option 2 ID : 69135211901
Option 31D : 69135211902
Option 4 ID : 69135211904
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Chosen Option : 3
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Status : Not Answered
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Option 11D : 69135211658
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Option 4 ID : 69135211657
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Chosen Option : 1
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Option 11D : 69135211672
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Status : Not Answered
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Question ID : 6913522939
Option 11D : 69135211754
Option 2 ID : 69135211755
Option 31D : 69135211753
Option 4 ID : 69135211756
Status : Answered
Chosen Option : 2
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Question ID : 6913522957
Option 11D : 69135211826
Option 21D : 69135211828
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Option 4 ID : 69135211825
Status : Answered
Chosen Option : 1
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Question ID : 6913522972
Option 11D : 69135211887
Option 21D : 69135211888
Option 31D : 69135211886
Option 4 1D : 69135211885
Status : Answered
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Question ID : 6913522913
Option 11D : 69135211649
Option 2 ID : 69135211651
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Status : Answered
Chosen Option : 1
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Question ID : 6913522943
Option 11D : 69135211770
Option 2 1D : 69135211769
Option 31D : 69135211772
Option 4 1D : 69135211771
Status : Not Answered
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Question ID : 6913522984
Option 11D : 69135211935
Option 2 ID : 69135211933




Chosen Option :

Option 31D : 69135211936
Option 4 ID : 69135211934
Status : Answered
Chosen Option : 2
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Question ID : 6913522912
Option 11D : 69135211645
Option 2 ID : 69135211646
Option 3 1D : 69135211648
Option 4 ID : 69135211647
Status : Not Answered
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Question ID : 6913522945
Option 11D : 69135211780
Option 2 ID : 69135211778
Option 31D : 69135211777
Option 4 ID : 69135211779
Status : Not Answered
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Question ID : 6913522950
Option 11D : 69135211799
Option 21D : 69135211798
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Option 4 1D : 69135211800
Status : Answered
Chosen Option : 4
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Question ID : 6913522920
Option 11D : 69135211678
Option 21D : 69135211680
Option 31D : 69135211677
Option 4 ID : 69135211679
Status : Not Answered
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Question ID : 6913522996
Option 11D : 69135211981
Option 2 ID : 69135211984
Option 31D : 69135211983
Option 4 ID : 69135211982
Status : Answered
Chosen Option : 2
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Question ID : 6913522932
Option 11D : 69135211726
Option 2 ID : 69135211727
Option 31D : 69135211728
Option 4 ID : 69135211725
Status : Answered
Chosen Option : 2
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Question ID : 6913522979
Option 11D : 69135211914
Option 2 ID : 69135211913
Option 31D : 69135211915
Option 4 ID : 69135211916
Status : Answered
Chosen Option : 3
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Option 11D : 69135211625
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Question ID : 6913522934
Option 11D : 69135211733
Option 2 ID : 69135211735
Option 31D : 69135211734
Option 41D : 69135211736
Status : Answered
Chosen Option : 4
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Question ID : 6913522966
Option 11D : 69135211863
Option 21D : 69135211862
Option 31D : 69135211864
Option 4 ID : 69135211861
Status : Not Answered
Chosen Option : --
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Question ID : 6913522935
Option 11D : 69135211738
Option 2 ID : 69135211740
Option 3 1D : 69135211737
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Status : Answered
Chosen Option : 1
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Question ID : 6913522914
Option 11D : 69135211655
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Status : Not Answered
Chosen Option : --
0.8 b ]
4 QIR diY 69k 694960 TS
Ans X 1. GIQS
v 2 g@dae
p e1e
X 4 §eIq
Question ID : 6913522997
Option 11D : 69135211986
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Option 41D : 69135211988
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Question ID : 6913522958
Option 11D : 69135211829
Option 21D : 69135211830
Option 31D : 69135211832
Option 4 1D : 69135211831
Status : Not Answered
Chosen Option : --
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Question ID : 6913522931
Option 11D : 69135211722
Option 2 ID : 69135211723
Option 3 ID : 69135211721
Option 4 ID : 69135211724
Status : Answered
Chosen Option: 2
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Question ID : 6913522941
Option 11D : 69135211763
Option 21D : 69135211764
Option 31D : 69135211762
Option 4 ID : 69135211761
Status : Answered
Chosen Option : 4
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Question ID : 6913522982
Option 11D : 69135211927
Option 21D : 69135211926
Option 31D : 69135211925
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Status : Answered
Chosen Option : 3
Q.8 3
9 X ¢ 6@6%"
144 14.4
1.44 X
A of 1. 0.144
X2 144
X 3000144
X 4 00144
Question ID : 6913522903
Option 11D : 69135211611
Option 2 ID : 69135211612
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Status : Not Answered
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Question ID : 6913522971
Option 11D : 69135211883
Option 21D : 69135211884
Option 31D : 69135211882
Option 41D : 69135211881
Status : Answered
Chosen Option: 1
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Question ID : 6913522983
Option 11D : 69135211929
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Status : Answered
Chosen Option: 3
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Question ID : 6913522961
Option 11D : 69135211844
Option 2 ID : 69135211841
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Status : Not Answered
Chosen Option : --
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Chosen Option : 2
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Question ID : 6913522975
Option 11D : 69135211899
Option 2 ID : 69135211897
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Status : Answered
Chosen Option : 4
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Question ID : 6913522902
Option 11D : 69135211608
Option 2 ID : 69135211607
Option 31D : 69135211606
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Status : Answered
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Option 2 ID : 69135211943
Option 31D : 69135211942
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Status : Answered
Chosen Option: 2
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Option 11D : 69135211971
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Chosen Option : 2
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Question ID : 6913522908
Option 11D : 69135211630
Option 2 ID : 69135211631
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Status : Answered
Chosen Option : 3
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Question ID : 6913522964
Option 11D : 69135211855
Option 2 ID : 69135211853
Option 31D : 69135211856
Option 4 ID : 69135211854
Status : Answered
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